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001 : orange
010 : beer
100 : wine
101 : bread
110 : cheese
111 : pokachip
011 : ramyun
010 : gun
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To be / Not to be Tested

* To be Tested - 27
* Not to be Tested — 8
e Total — 35
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Not to be Tested
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Test design specification identifier
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"“YYYYMMDD_product txt”,
"WYYYMMDD_sale_management.txt”
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3EHA| - input/output A2

< Table 2 Test Design Identification >+

Features Valid valuss

POS_STC .2

Identifiers
POS_STC_001_000+

POS_STC_002_000+




3EHA| - input/output T

POS_STC.11#

POS_STC_011_000+

POS_STC_011_001+

POS_STC_011_002+
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STR Pass/Fail

Identifiers

Input Specification+

Output specifications
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STR Pass/Fail

POS_STC_017_000+
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(home) -> 4 -> 201711081315 -> -1



T1 /T2 Testing

T1

T2

Identifiers

POS_STC_001_000¢

POS_STC_002_000¢

POS_STC_003_000+

POS_STC_004_000¢

Identifiers
POS_STC_001_000«

POS_STC_002_000¢

POS_STC_O

POS_STC_004_000¢
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L /home/seproject2

Total Buy

Cash : 0
Change : 0

1.InBarcode 2Z:MumOfGoods 3:RemovelList 4:5ell 5:Refund &6:5tock 7:Time &:Power OfF
1

insert barcode :
o010




T1 Testing

E f hiom g/oe proj I ert?

number  |name |price | quantity | totalprice
1 beer 10 a o

Total Buy : 310
Cash : 0

1. InBarcode 2:NumOfGoods 3:Removelist 4:5e11 5:Refund 6:5tock 7:Time B:Power OfF




T1 Testing

E Shomey seproject?

number | name | price | quantity | totalprice
1 beer 310 1 310

Total Buy : 310
Cazh : 0O
Change : 0

1.InBarcode 2:NumOfGoods 3:Removelist 4:5e11 5:Refund 6:5tock 7:Time 8:Power Off
file not opened! - sale_management

file not opened! - refund_management

Mext Day, refresh stock!
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T2 Testing

E ~/2017se-master/src

I CASHIER SCREEM CLSTOMER SCREEM

+ 1, Increase Ouantity
+ 2, Decrease Quantity
+ 3, BARCODE
+ 4, RECEIPT

dction @ 3
Barcode @ 0OM
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T2 Testing
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................................ i

+ 1. BARCODE " =

+ 2. RECEIPT * POS_STC_019_000¢

+ 3. CANCEL x

dction @ .

Barcode | 201711060736 PO5_5TC_020_000¢
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POS_STC_021_000+
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Testing 2 1}

°T1
25 Pass
7 Fail
E 1 : 25/32(78%)

* T2

12 Pass
20 Fail
ENE :12/32(38%)
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